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General Instructions :

(1)

(1)
(ii1)
(iv)

First 15 minutes are allotted for the candidates to read the question paper.

All questions are compuisory

Husirate your answers with labelled diagrams wherever necessary.

Marks allotted to each question arc mentioned dgamst if.
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( Muitiple Cheice Ty pe Questions)

Choeose the correct aption and wiile (i yvour answer Bk

ral Which one s found i pollen grun 7

iAy Two male gametes

BY O Twa segetative cells and ope generatrve celi

(U Ome generathve vell and one wibe cell

(DY One wihe celi and one male gamete

ity

My Number of poten sacs s anaiither s

1A Four
1B Two
(0 (One

ici Hoa
A 200
(B} HKO
(Cr 250
Dy 30

(dy Congenital metabolic disorder is
(A) Phenylketonuria
(B) Colour blindness
(C) Haemophilia
.(D-) ) Ana‘:mia




el

'ad

-~ (e) What do you mean by Polyembryony ?

afan awlia W)

(Detinite Answer Type Ques:imﬂ)

() 2EWIEE FIT IS 7 ATA BENEE & AT ferian |
L R F EOE arrta fag gane

g, T @ T Y G 7 g il

iq)

(= da fatgaar @@ S EC

cay o Mention e NEme Cf Causal orgarism of Typhuid fever
by What ivpe of nucleus 1 found 10 bacteriad vell

ey Draw o labelled diagram of o succulenm Fruit.

rdy Deseribe n brief apout adv antages of erovs-pollination.

fep What i bio-diversity notspot 7

(T =1y -3l )

(Very Short Answer Type Questions)

(%) VBTN 3 TR FRRuH IS A i B v

(@) offgeihs g o fafgn

oy TEE (Z) W AN Aed (BT ) B B At i |

(w) srETEEA (o) % vfonfia i

(%) =y i ffan

{(a) Pollen grains get their nourishment from which part of anther 9

(b) Comment upon amniocentesis.

(¢} Differentiate between true fruil and false fruit,

(d) Detine Apomixis.
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1 (Short Apgwer Type Ouestions} ke

3 (Fy wyw g o % T RS R A ¢
) U TS ATYIN 374 W] U4, FratEA T AT ’

) ngua@wrﬁ:ﬂmwmgﬁq%?ga‘mﬁmﬁmr ’

rg) afrEm fagrys e dlere foomf fafige ?

4 (ay  Draw g labotied dragram of a human sperm :
(b)  Draw « lahoiterd diagram of w iransyverse secion of 2 mature anther 3

(o) Wha do you e B bee-reeping Cxplain it in oriel :

(dy  Write short note 9 Family Plannng. :

e é@ﬁ&ﬂ%ﬁﬁ'ﬁﬁ%%ﬂméﬁt{l 3
(@) s A ER IR T A 2 st ST el 3 o T @ 1 TAEC G

Typ T | 3

3

(1) WWQWWW%?EW%WWJ

(=) WWWW%W%EWWW@Wﬁmmqi 3
Give an account on DNA fingerprinting.

(b)  Who 18 father of Green Revolution in India 7 Green Revolution is useful for

farmers. Explain it with example. 5

(¢) What do you mean by restriction enzymes 7 Explain with example. .

(d) Hydrophytic plants are adapted to their environment. Explain 1t with the help of o

examples and diagrams. _ R
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(%)

{ai

(b)

fe)

(d)

)y fafi @ G wreE) g Sefean wer gaek, sesot ® g el |

sfipe fromh il

() s H snatn fa

(i) BT B

o st ReR a0 R 0w s o gk afte o sedi E1F ) 142
fopegl Q) R wferet furef) ferfign - e+ 1%
(i) TS

)y SveifEE

(i} S sarsfe agr | et Wi ) yfr

Name the important components of bio-diversity and mention suitable measures
for its conservation. 2
Write short note on e+ 1t

{1} Genetical discrder in man

(1) Central dogma
What is bio-fertilizer ? Describe its role in the production of foed. 142

Write short note on any two 1% 4 17
(i) Reddaia book
(i) Parasitism

(ii) Role of leguminous plants in increasing the fertility of soil
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Loug Answer Type Question)
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mature ovule woan Angiosperic flower.
OR

Draw a fabelled diagram of reproductive system of a woman,

R Tl @ m alena feom et 22 + 2%
Gy iafee
(i) @A 98 IR
(ni) =t &) pam
FHoal

2V 4 2%

() el den A

iy e e e gl e

i as(cM) [7018]




Write short note op any two
(1) Double terihzation
(nd o Sewdee treatmerit
(i Controf of Poesmonta
OR
Differentiate between ihe following fruits
(11 Legume und Lomentum

(i) Drupe and Schizocarpic frun

wigrea feoed ity

(i) A | e

Gy wRS Aun ffera vieen
3ea

FEE e T v ey fafiau |

Write short note on

(1) Fertilization in human

(ii)  Active and Passive Immunity
OR

Write an essay on Genetic code.
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